EIGHT | BOX
oD | oP T vl lelals P orrce|W
MODEL | @D (Hex) (9) | (EA)
PL45 04-M5 M5*0.8p | 19.5 | 34.4 4.0 10 2.5 5.9 100
PL45 04-M6 M6*1.0p | 19.6 | 34.5 4.1 10 7.9 100
PL45 04-01 4 105 | R 1/8 2351384 ]16.3| 80 | 14.8 10 9.9 100
PL45 04-02 R 1/4 25.5 | 40.4 10.0 14 30 14.9 100
PL45 04-03 R 3/8 26.5 | 41.4 11.0 17 25.9 50
PL45 06-MB M5*0.8p | 20.5 | 37.3 4.0 12 2.5 7.0 100
PL45 06-M6 M6*1.0p | 20.6 | 37.4 4.1 12 3.0 12.0 100
PL45 06-01 R 1/8 245 | 41.3 8.0 12 13.0 100
6 13.0 18.4 16.4
PL45 06-02 R 1/4 275 | 44.3 10.0 14 ‘o 19.0 100
PL45 06-03 R 3/8 28.5 | 45.3 11.0 17 ’ 27.0 50
PL45 06-04 R 1/2 31.5 | 48.3 14.0 21 39.0 50
PL45 08-01 R 1/8 26.5 | 46.5 8.0 14 17.8 50
PL45 08-02 R 1/4 295|495 10.0 14 21.8 50
8 14.8 21.8 18.3 6.0
PL45 08-03 R 3/8 30.5 | 50.5 11.0 17 26.8 50
PL45 08-04 R 1/2 33.5]53.5 14.0 21 42 .8 50
PL45 10-01 R 1/8 259 | 48.2 8.0 17 6.0 25.6 50
o~ PL45 10-02 R 1/4 289 |51.2 10.0 17 27.6 50
h 10 | 17.5 23.3 20.2
PL45 10-03 R 3/8 29.9 | 52.2 11.0 17 8.0 29.6 50
PL45 10-04 R 1/2 329 155.2 14.0 21 47.6 25
— PL45 12-01 R 1/8 29.7 | 55.3 8.0 19 6.0 42.3 25
PL45 12-02 R 1/4 31.7157.3 10.0 19 9.0 40.3 25
12 |1 21.0 26.5 22.9
/ PL45 12-03 R 3/8 32.7 | 58.3 11.0 19 00 43.3 25
T PL45 12-04 R 1/2 35.7 | 61.3 14.0 21 ’ 52.3 25




